

See a Social Security Number? Say Something! Report Privacy Problems to https://public.resource.org/privacy Or call the IRS Identity Theft Hotline at 1-800-908-4490



Form **990-PF** Department of the Treasury Internal Revenue Service

Return of Private Foundation or Section 4947(a)(1) Trust Treated as Private Foundation

▶ Do not enter social security numbers on this form as it may be made public. ▶ Information about Form 990-PF and its separate instructions is at www.irs.gov/form990pf.

	ndar year 2014 or tax year beginning					
Name o	f foundation				A Employer identification	n number
WES	TREICH FINALY FOUNI	OITA	N, INC.		26-2718009)
Number	and street (or P O box number if mail is not deliver	ed to street	address)	Room/suite	B Telephone number	
780	8 PALENCIA WAY				(561) 865-	<u>-5705</u>
City or 1	town, state or province, country, and ZIP or	foreign p	ostal code		C If exemption application is ;	pending, check here
DEL	<u>RAY BEACH, FL 3344</u>	<u> 16</u>	·			
Chec	k all that apply: Initial return		initial return of a fo	ormer public charity	D 1. Foreign organization	s, check here
	Final return		Amended return		2 Foreign expenientions —	eating the REM test
	Address chang		Name change		Foreign organizations mechack here and attach calculated.	omputation lest,
			empt private foundation		E If private foundation sta	
	ection 4947(a)(1) nonexempt charitable tru		Other taxable private founda		under section 507(b)(1)(A), check here
	- I		ng method: X Cash	Accrual	F If the foundation is in a	
	Part II, col. (c), line 16)	0t 	her (specify)	hasia l	under section 507(b)(1)(B), check here
<u>▶\$</u>	4,102,936.	irt i, colu	mn (d) must be on cash l	oasis.)		1.0
<u>Part</u>	Analysis of Revenue and Expenses (The total of amounts in columns (b), (c), and (d) necessarily equal the amounts in column (a))	may not	(a) Revenue and expenses per books	(b) Net investment	(c) Adjusted net	(d) Disbursements for charitable purposes
- 1			expenses her proves	ıncome	income	(cash basis only)
1	Contributions, gifts, grants, etc., received				N/A	
2	Check X If the foundation is not required to atta	en Sch B	10	4 ^		CM3 MDVC7577 4
3	Interest on savings and temporary cash investments		12.	12.		STATEMENT 1
4	Dividends and interest from securities		96,327.	96,767	•	STATEMENT 2
١.	a Gross rents					
	Net rental income or (loss)		00 011			
e 6	Net gain or (loss) from sale of assets not on line Gross sales price for all 1 21 0 F		89,011.			
_ @	assets on line 6a	85.		00 011		1
7 چ <u>و</u>	Capital gain net income (from Part IV, line 2)			89,011	• <u> </u>	
8	Net short-term capital gain					
9	Income modifications. Gross sales less returns		* * * \$ \$	* :- ;	 	
. i .	and allowances		· · · · · · · · · · · · · · · · · · ·		H RECE!W	 []
	b Less Cost of goods sold C Gross profit or (loss)			· · · · · · · · · · · · · · · · · · ·		
11						\$15 S
12	Total. Add lines 1 through 11		185,350.	185,790		2
13	Compensation of officers, directors, trustees, etc	·	0.	0.		0.
14	Other employee salaries and wages				H OGDEN.	UT I
15					II OODEIN,	
40	• •				- CODEIN,	50 acc
ي 16:	Pension plans, employee benefits					II Sitteman version and the second se
	• •	r 3	6,529.	3,265		0.
Expenses	Pension plans, employee benefits a Legal fees		6,529. 4,371.	3,265 4,371		0.
ive Expenses	Pension plans, employee benefits a Legal fees b Accounting fees c Other professional fees STM:		4,371.	4,371		
rative Expenses	Pension plans, employee benefits a Legal fees b Accounting fees c Other professional fees Interest	r 4	6,529. 4,371. 3,471.	3,265 4,371 3,471		
nistrative Expenses	Pension plans, employee benefits Legal fees Accounting fees Cother professional fees Interest	r 4	4,371.	4,371		0.
Iministrative Expenses	Pension plans, employee benefits Legal fees Accounting fees Cother professional fees Interest Taxes Depreciation and depletion	r 4	4,371.	4,371		0.
Administrative Expenses 12 05 18 19 19 19 19 19 19 19 19 19 19 19 19 19	Pension plans, employee benefits Legal fees Accounting fees Cother professional fees Interest Taxes Depreciation and depletion Occupancy	r 4	4,371.	4,371		0.
and Administrative Expenses 5 12 05 18 11 19 19 19 19 19 19 19 19 19 19 19 19	Pension plans, employee benefits Legal fees Accounting fees Cother professional fees Interest Taxes Depreciation and depletion Occupancy Travel, conferences, and meetings	r 4	4,371.	4,371		0.
ng and Administrative Expenses 12 25 25 25 26 19 19 19 19 19 19 19 19 19 19 19 19 19	Pension plans, employee benefits Legal fees Accounting fees Cother professional fees Interest Taxes Depreciation and depletion Occupancy Travel, conferences, and meetings Printing and publications	r 4	4,371.	4,371		0.
rating and Administrative Expenses 75 75 75 75 75 75 75 75 75 75 75 75 75	Pension plans, employee benefits Legal fees Accounting fees Cother professional fees Interest Taxes Depreciation and depletion Occupancy Travel, conferences, and meetings Printing and publications	r 4	3,471.	3,471		0.
perating and Administrative Expenses 12 12 12 12 12 12 12 12 12 12 12 12 12	Pension plans, employee benefits Legal fees Accounting fees Cother professional fees Taxes Depreciation and depletion Occupancy Travel, conferences, and meetings Printing and publications Other expenses Total operating and administrative expenses. Add lines 13 through 23	r 4	4,371. 3,471.	4,371		0.
Operating and Administrative Expen Operating and Administrative Expen 10	Pension plans, employee benefits Legal fees Accounting fees Cother professional fees Interest Taxes Depreciation and depletion Occupancy Travel, conferences, and meetings Printing and publications Other expenses Total operating and administrative expenses. Add lines 13 through 23 Contributions, gifts, grants paid	r 4	3,471.	3,471		0.
Operating and Administrative Expen Operating and Administrative Expen 10	Pension plans, employee benefits Legal fees Accounting fees Cother professional fees Taxes Depreciation and depletion Occupancy Travel, conferences, and meetings Printing and publications Other expenses Total operating and administrative expenses. Add lines 13 through 23	r 4	14,371. 14,371. 189,000.	4,371 3,471 11,107		0. 0. 0. 189,000.
Operating and Administrative Expen Operating and Administrative Expen 10	Pension plans, employee benefits Legal fees Accounting fees Cother professional fees Interest Taxes Depreciation and depletion Occupancy Travel, conferences, and meetings Printing and publications Other expenses Total operating and administrative expenses. Add lines 13 through 23 Contributions, gifts, grants paid Total expenses and disbursements. Add lines 24 and 25	r 4	4,371. 3,471.	3,471		0.
Operating and Administrative Expen Operating and Administrative Expen 10	Pension plans, employee benefits Legal fees Accounting fees Cother professional fees Interest Taxes STM: Depreciation and depletion Occupancy Travel, conferences, and meetings Printing and publications Other expenses Total operating and administrative expenses. Add lines 13 through 23 Contributions, gifts, grants paid Total expenses and disbursements. Add lines 24 and 25	r 4	14,371. 14,371. 189,000. 203,371.	4,371 3,471 11,107		0. 0. 0. 189,000.
Operating and Administrative Expen 12 13 14 15 16 17 18 18 19 19 10 10 10 10 10 10 10 10	Pension plans, employee benefits Legal fees Accounting fees Cother professional fees Interest Taxes Depreciation and depletion Occupancy Travel, conferences, and meetings Printing and publications Other expenses Total operating and administrative expenses. Add lines 13 through 23 Contributions, gifts, grants paid Total expenses and disbursements. Add lines 24 and 25	r 4	14,371. 14,371. 189,000.	11,107		0. 0. 0. 189,000.
Operating and Administrative Expen 12	Pension plans, employee benefits Legal fees Accounting fees Cother professional fees Interest Taxes Depreciation and depletion Occupancy Travel, conferences, and meetings Printing and publications Other expenses Total operating and administrative expenses. Add lines 13 through 23 Contributions, gifts, grants paid Total expenses and disbursements. Add lines 24 and 25 Subtract line 26 from line 12:	C 5	14,371. 14,371. 189,000. 203,371.	4,371 3,471 11,107		0. 0. 0. 189,000.

<u> For</u>	m 99	OPF (2014) WESTREICH FINALY FOUNDAT			2/18009 Page 2
Þ	art	Balance Sheets Attached schedules and amounts in the description	Beginning of year	End o	
	<u> </u>	column should be for end-of-year amounts only	(a) Book Value	(b) Book Value	(c) Fair Market Value
	1	Cash - non-interest-bearing	112,437.	202,963.	202,963.
	2	Savings and temporary cash investments			
	3	Accounts receivable ▶			
] _	Less; allowance for doubtful accounts ▶			
	_A	Pledges receivable ►			
	"	Less: allowance for doubtful accounts			
	_				
	5	Grants receivable			
	6	Receivables due from officers, directors, trustees, and other			
		disqualified persons			
	7	Other notes and loans receivable			1
		Less: allowance for doubtful accounts ▶			
ş	8	Inventories for sale or use			
Assets	9	Prepaid expenses and deferred charges			
Ä	10a	Investments - U.S. and state government obligations		_	
	Ь	Investments - corporate stock STMT 7	2,299,049.	1,992,512.	2,458,229.
	1	Investments - corporate bonds STMT 8	837,785.	1,053,911.	1,022,495.
	1	Investments - land, buildings, and equipment, basis			
	l	Less accumulated depreciation			
	40	·			· · · · · · · · · · · · · · · · · · ·
	1	Investments - mortgage loans	486,306.	467 005	410 240
	13	Investments - other STMT 9	486,306.	467,885.	419,249.
	14	Land, buildings, and equipment basis			
		Less accumulated depreciation			
	1	Other assets (describe ►)			
	16	Total assets (to be completed by all filers - see the			
_		instructions. Also, see page 1, item !)	3,735,577.	3,717,271.	<u>4,102,936.</u>
	17	Accounts payable and accrued expenses			
	18	Grants payable			× .
Ø	19	Deferred revenue			•
Liabilities	20	Loans from officers, directors, trustees, and other disqualified persons			*
豆	21	Mortgages and other notes payable			
:≌	1	Other liabilities (describe			* 3*
	22	Other Habilities (describe			
		Total liabilities (add lines 17 through 99)	0.	0.	;
_	23	Total liabilities (add lines 17 through 22) Foundations that follow SFAS 117, check here			
		•			
Ś	l	and complete lines 24 through 26 and lines 30 and 31.	2 725 577	2 717 271	
ဦ	24	Unrestricted	3,735,577.	3,717,271.	1
릁	25	Temporarily restricted			
Ä	26	Permanently restricted			1
Ĕ		Foundations that do not follow SFAS 117, check here			i i
Net Assets or Fund Balances		and complete lines 27 through 31.			
S	27	Capital stock, trust principal, or current funds			1
Set	28	Paid-ın or capıtal surplus, or land, bldg., and equipment fund			
As	29	Retained earnings, accumulated income, endowment, or other funds			
<u>e</u>	30	Total net assets or fund balances	3,735,577.	3,717,271.	
~	••		3,133,311		
	21	Total liabilities and net assets/fund balances	3,735,577.	3,717,271.	
=	•			J, III, ZIII	
P	art	III Analysis of Changes in Net Assets or Fund Ba	alances		
_			20		
1		net assets or fund balances at beginning of year - Part II, column (a), line	3U		2 525 555
	•	st agree with end-of-year figure reported on prior year's return)		1	3,735,577.
		r amount from Part I, line 27a		2	-18,021.
_		r increases not included in line 2 (itemize)		3	0.
4	Add	lines 1, 2, and 3		4	3,717,556.
5	Decr	eases not included in line 2 (itemize)	SEE STA	TEMENT 6 5	285.
6	<u>Tota</u>	net assets or fund balances at end of year (line 4 minus line 5) - Part II, co	lumn (b), line 30	6	3,717,271.
					Form 990-PF (2014)

	Calendar year (or tax year beginning in)	Adjusted qualitying distributions	Net value of noncharitable-use assets		(col. (b) divided by col. (c))
	2013	196,750.	4,124,581.		.047702
	2012	197,449.	3,843,726.		.051369
	2011	266,200.	3,938,765.		.06758
	2010	193,000.	3,758,073.		.051350
	2009	172,519.	3,673,173.		.04696
	Total of line 1, column (d)	see period - divide the total on line 2 by 5	or by the number of years	2	.264979
J	Average distribution ratio for the 5-year base period - divide the total on line 2 by 5, or by the number of years the foundation has been in existence if less than 5 years			3	.052996
4	Finter the net value of noncharitable-use assets for 2014 from Part X, line 5				4,233,520
5	Multiply line 4 by line 3			5	224,360
6	Enter 1% of net investment income (1% o	f Part I, line 27b)		6	1,747
7	Add lines 5 and 6			7_	226,107

If line 8 is equal to or greater than line 7, check the box in Part VI, line 1b, and complete that part using a 1% tax rate.

Form **990-PF** (2014)

189,000.

See the Part VI instructions.

8 Enter qualifying distributions from Part XII, line 4

	1990-PF (2014) WESTREICH FINALY FOUNDATION, INC. 26-2718 Int VI Excise Tax Based on Investment Income (Section 4940(a), 4940(b), 4940(e), or 4948 - see			Page 4 ns)
1a	Exempt operating foundations described in section 4940(d)(2), check here and enter "N/A" on line 1.			
	Date of ruling or determination letter: (attach copy of letter if necessary-see instructions)			
b	Domestic foundations that meet the section 4940(e) requirements in Part V, check here and enter 1%		3,4	94.
	of Part I, line 27b			
C	All other domestic foundations enter 2% of line 27b. Exempt foreign organizations enter 4% of Part I, line 12, col. (b).			
2	Tax under section 511 (domestic section 4947(a)(1) trusts and taxable foundations only. Others enter -0-)			0.
3	Add lines 1 and 2		3,4	94.
4	Subtitle A (income) tax (domestic section 4947(a)(1) trusts and taxable foundations only. Others enter -0-)			<u>0.</u>
5	Tax based on investment income. Subtract line 4 from line 3. If zero or less, enter -0-		3,4	94.
6	Credits/Payments:			,
a	2014 estimated tax payments and 2013 overpayment credited to 2014 6a 5,697.			ė,
b	Exempt foreign organizations - tax withheld at source			
C	Tax paid with application for extension of time to file (Form 8868)			
d	Backup withholding erroneously withheld			
	Total credits and payments. Add lines 6a through 6d	_	5,6	<u>97.</u>
8	Enter any penalty for underpayment of estimated tax. Check here if Form 2220 is attached			
	Tax due. If the total of lines 5 and 8 is more than line 7, enter amount owed			
	Overpayment. If line 7 is more than the total of lines 5 and 8, enter the amount overpaid		2,2	03.
	Enter the amount of line 10 to be: Credited to 2015 estimated tax			<u>0.</u>
	art VII-A Statements Regarding Activities		15.0	
1a	During the tax year, did the foundation attempt to influence any national, state, or local legislation or did it participate or intervene in		Yes	
	any political campaign?	1a		X
b	Did it spend more than \$100 during the year (either directly or indirectly) for political purposes (see instructions for the definition)?	1b		X
	If the answer is "Yes" to 1a or 1b, attach a detailed description of the activities and copies of any materials published or			
	distributed by the foundation in connection with the activities.	ł		
	Did the foundation file Form 1120-POL for this year?	1c	<u> </u>	X
d	Enter the amount (if any) of tax on political expenditures (section 4955) imposed during the year:			
	(1) On the foundation. ► \$ 0. (2) On foundation managers. ► \$ 0.	1 1		
е	Enter the reimbursement (if any) paid by the foundation during the year for political expenditure tax imposed on foundation			
_	managers. ▶ \$	_		
2	Has the foundation engaged in any activities that have not previously been reported to the IRS? If "Yes," attach a detailed description of the activities.	2	-	X
3	Has the foundation made any changes, not previously reported to the IRS, in its governing instrument, articles of incorporation, or			٠,
	bylaws, or other similar instruments? If "Yes," attach a conformed copy of the changes	3_		X
4a	Did the foundation have unrelated business gross income of \$1,000 or more during the year?	4a		X
b	If "Yes," has it filed a tax return on Form 990-T for this year?	4b		
5	Was there a liquidation, termination, dissolution, or substantial contraction during the year?	5_		X
	If "Yes," attach the statement required by General Instruction T.			
6	Are the requirements of section 508(e) (relating to sections 4941 through 4945) satisfied either:			,
	By language in the governing instrument, or			
	By state legislation that effectively amends the governing instrument so that no mandatory directions that conflict with the state law		ļ	
	remain in the governing instrument?	6	X	<u> </u>
7	Did the foundation have at least \$5,000 in assets at any time during the year? If "Yes," complete Part II, col. (c), and Part XV	7	X	-
	Enter the states to which the foundation reports or with which it is registered (see instructions)			1
b	If the answer is "Yes" to line 7, has the foundation furnished a copy of Form 990-PF to the Attorney General (or designate)			
	of each state as required by General Instruction G? If "No," attach explanation	8b	X	<u> </u>
9	Is the foundation claiming status as a private operating foundation within the meaning of section 4942(j)(3) or 4942(j)(5) for calendar			
	year 2014 or the taxable year beginning in 2014 (see instructions for Part XIV)? If "Yes," complete Part XIV	9		X
10		10		X
	For	m 990)-PF	(2014)

orm	1 990-PF (2014) WESTREICH FINALY FOUNDATION, INC. 26	-2718	009		Page 5
Pa	art VII-A Statements Regarding Activities (continued)				
11	At any time during the year, did the foundation, directly or indirectly, own a controlled entity within the meaning of		_		
	section 512(b)(13)? If "Yes," attach schedule (see instructions)		11		x
12	Did the foundation make a distribution to a donor advised fund over which the foundation or a disqualified person had advisory privileg	jes?			
	If "Yes," attach statement (see instructions)		12		X
13	Did the foundation comply with the public inspection requirements for its annual returns and exemption application?	Į	13	_X_	<u> </u>
	Website address N/A				
14	The books are in care of ▶ GAIL MARCY WHITE Telephone no. ▶ (!			<u>-57</u>	05
		4 ► 33	<u>446</u>		
15	Section 4947(a)(1) nonexempt charitable trusts filing Form 990-PF in lieu of Form 1041 - Check here				•
	and enter the amount of tax-exempt interest received or accrued during the year		N	/A	
16	At any time during calendar year 2014, did the foundation have an interest in or a signature or other authority over a bank,	1		Yes	No
	securities, or other financial account in a foreign country?		16		X
	See the instructions for exceptions and filing requirements for FinCEN Form 114, (formerly TD F 90-22.1). If "Yes," enter the name of the	e			
D	foreign country				
Pe	art VII-B Statements Regarding Activities for Which Form 4720 May Be Required			14.	
	File Form 4720 if any item is checked in the "Yes" column, unless an exception applies.			Yes	No
18	a During the year did the foundation (either directly or indirectly):				
	(1) Engage in the sale or exchange, or leasing of property with a disqualified person? (2) Possey manage from lead manage to an otherwise extend and the for except the form.	NO			
	(2) Borrow money from, lend money to, or otherwise extend credit to (or accept it from) a disqualified person? Yes	7 No.		*	
	(3) Furnish goods, services, or facilities to (or accept them from) a disqualified person?				
	(4) Pay compensation to, or pay or reimburse the expenses of, a disqualified person?	_		<u>~</u>	t
	(5) Transfer any income or assets to a disqualified person (or make any of either available	2 110		,	
	for the benefit or use of a disqualified person)?	Z No			
	(6) Agree to pay money or property to a government official? (Exception. Check "No"				į
	if the foundation agreed to make a grant to or to employ the official for a period after				
	termination of government service, if terminating within 90 days.)	K No			
b	b If any answer is "Yes" to 1a(1)-(6), did any of the acts fail to qualify under the exceptions described in Regulations				
		N/A	1b		
	Organizations relying on a current notice regarding disaster assistance check here	▶ □ [
0	c Did the foundation engage in a prior year in any of the acts described in 1a, other than excepted acts, that were not corrected				
	before the first day of the tax year beginning in 2014?		1c		X
2	Taxes on failure to distribute income (section 4942) (does not apply for years the foundation was a private operating foundation	ŀ			
	defined in section 4942(j)(3) or 4942(j)(5)):				
8	a At the end of tax year 2014, did the foundation have any undistributed income (lines 6d and 6e, Part XIII) for tax year(s) beginning	_			
	before 2014?	K. No			
	If "Yes," list the years \blacktriangleright	İ			
t	b Are there any years listed in 2a for which the foundation is not applying the provisions of section 4942(a)(2) (relating to incorrect				1
	valuation of assets) to the year's undistributed income? (If applying section 4942(a)(2) to all years listed, answer "No" and attach				
_		N/A	2b		
	c If the provisions of section 4942(a)(2) are being applied to any of the years listed in 2a, list the years here.				
٠.	■				
38	during the year?	7 No			
	b If "Yes," did it have excess business holdings in 2014 as a result of (1) any purchase by the foundation or disqualified persons after	ן מאוב			
•	May 26, 1969; (2) the lapse of the 5-year period (or longer period approved by the Commissioner under section 4943(c)(7)) to dispose	,			
	of holdings acquired by gift or bequest; or (3) the lapse of the 10-, 15-, or 20-year first phase holding period? (Use Schedule C,	-			
		N/A	3ь		
42	a Did the foundation invest during the year any amount in a manner that would jeopardize its charitable purposes?	· / }	4a		X
	b Did the foundation make any investment in a prior year (but after December 31, 1969) that could jeopardize its charitable purpose that	Ì			
	had not been removed from jeopardy before the first day of the tax year beginning in 2014?		4b		X
		Forr	n 99 0)-PF	(2014)

orm 990-PF (2014) , WESTREICH FINALY FOUNDAT	ION, INC.		<u> 26-27180</u>	09_	Page 6
Part VII-B Statements Regarding Activities for Which	Form 4720 May Be F	Required (contin	ued)		
-Sa During the year did the foundation pay or incur any amount to:					
(1) Carry on propaganda, or otherwise attempt to influence legislation (section			s X No		
(2) Influence the outcome of any specific public election (see section 4955); of	or to carry on, directly or indire				
any voter registration drive?			s X No		
(3) Provide a grant to an individual for travel, study, or other similar purposes	s?	Ye	es X No		
(4) Provide a grant to an organization other than a charitable, etc., organization	n described in section				
4945(d)(4)(A)? (see instructions)		Ye	s X No		
(5) Provide for any purpose other than religious, charitable, scientific, literary	, or educational purposes, or t				
the prevention of cruelty to children or animals?		Y6	s X No		
b If any answer is "Yes" to 5a(1)-(5), did any of the transactions fail to qualify un	der the exceptions described	ın Regulatıons			
section 53.4945 or in a current notice regarding disaster assistance (see instru	uctions)?		N/A	5b	
Organizations relying on a current notice regarding disaster assistance check i			▶∟ ∣		
c If the answer is "Yes" to question 5a(4), does the foundation claim exemption to	from the tax because it mainta	ined			
expenditure responsibility for the grant?	J.	I/A	es No		
If "Yes," attach the statement required by Regulations section 53.494	5-5(d).				
6a Did the foundation, during the year, receive any funds, directly or indirectly, to	pay premiums on				'
a personal benefit contract?		Ye	s X No		
b Did the foundation, during the year, pay premiums, directly or indirectly, on a	personal benefit contract?			6b	X
If "Yes" to 6b, file Form 8870.					*
7a At any time during the tax year, was the foundation a party to a prohibited tax :	shelter transaction?	Ye	s X No L		
b If "Yes," did the foundation receive any proceeds or have any net income attrib				7b	
Part VIII Information About Officers, Directors, Trust	tees, Foundation Ma	nagers, Highly	y		
Paid Employees, and Contractors		<u> </u>	<u> </u>		
1 List all officers, directors, trustees, foundation managers and their	T	(a) Componentian	(d) Contributions to		
(a) Name and address	(b) Title, and average hours per week devoted	(c) Compensation (If not paid,	(d) Contributions to employee benefit plans and deferred	accour	xpense nt, other
	to position	`enter'-0-)	compensation		vances
WILLIAM FINALLY COHEN	DIRECTOR			ļ	
885 PARK AVENUE, APT 9C					_
NEW YORK, NY 10021	1.00	0.	0.	ļ	0.
GAIL MERCY WHITE	DIRECTOR			}	
7808 PALENCIA WAY	1 1				_
DELRAY BEACH, FL 33446	1.00	0.	0.		<u>0.</u>
DIANE LYNN HARRIS	DIRECTOR			İ	
176 EAST 77TH STREET, APT 16J	1				_
NEW YORK, NY 10021	1.00	0.	0.	ļ	<u>0.</u>
	4				
	4			Ì	
2 Compensation of five highest-paid employees (other than those in	cluded on line 1) If none	enter "NONE "		ł	
2 Compensation of live highest-paid employees (other than those in	(b) Title, and average	enter NONE.	(d) Contributions to	(e) F:	rnense
(a) Name and address of each employee paid more than \$50,000	hours per week devoted to position	(c) Compensation	(d) Contributions to employee benefit plans and deferred	accour	xpense nt, other vances
NONTE	devoted to position		compensation	allow	ances
NONE				ŀ	
· · · · · · · · · · · · · · · · · · ·		 		<u> </u>	
		-		 	
	4				
<u> </u>			-	-	
		-			
	1				
Total number of other employees paid over \$50,000	<u> </u>	<u> </u>		L	
TOTAL HUMBER OF OTHER EMPROYEES PAIN OVER \$30,000				000-DI	

11-24-14

P	art X Minimum Investment Return (All domestic foundations must complete this part. Foreign four	ndations,	see instructions.)
1	Fair market value of assets not used (or held for use) directly in carrying out charitable, etc., purposes:		
a	Average monthly fair market value of securities	1a	4,163,779.
b	Average of monthly cash balances	1b	4,163,779. 134,211.
c	Fair market value of all other assets	1c	
d	Total (add lines 1a, b, and c)	1d	4,297,990.
е	Reduction claimed for blockage or other factors reported on lines 1a and		
	1c (attach detailed explanation) 1e 0.		
2	Acquisition indebtedness applicable to line 1 assets	2	
3	Subtract line 2 from line 1d	3	4,297,990.
4	Cash deemed held for charitable activities. Enter 1 1/2% of line 3 (for greater amount, see instructions)	4	64,470.
5	Net value of noncharitable-use assets. Subtract line 4 from line 3. Enter here and on Part V, line 4	5	4,233,520.
6	Minimum investment return. Enter 5% of line 5	6	211,676.
P	foreign organizations check here and do not complete this part.) Distributable Amount (see instructions) (Section 4942(j)(3) and (j)(5) private operating foundations and do not complete this part.)	d certain	
1	Minimum investment return from Part X, line 6	1	211,676.
2a	Tax on investment income for 2014 from Part VI, line 5		_
b	Income tax for 2014. (This does not include the tax from Part VI.)		
C	Add lines 2a and 2b	2c	3,494.
3	Distributable amount before adjustments. Subtract line 2c from line 1	3	208,182.
4	Recoveries of amounts treated as qualifying distributions	4	0.
5	Add lines 3 and 4	5	208,182.
6	Deduction from distributable amount (see instructions)	6	0.
7_	Distributable amount as adjusted. Subtract line 6 from line 5. Enter here and on Part XIII, line 1	7	208,182.
F	Qualifying Distributions (see instructions)		
1	Amounts paid (including administrative expenses) to accomplish charitable, etc., purposes:		
8		_1a	189,000.
b	Program-related investments - total from Part IX-B	1b	0.
2	Amounts paid to acquire assets used (or held for use) directly in carrying out charitable, etc., purposes	2	
3	Amounts set aside for specific charitable projects that satisfy the:		
8		3a	
b	,	3b	
4	Qualifying distributions. Add lines 1a through 3b. Enter here and on Part V, line 8, and Part XIII, line 4	4	189,000.
5	Foundations that qualify under section 4940(e) for the reduced rate of tax on net investment	İ	_
	income. Enter 1% of Part I, line 27b	5	0.
6	Adjusted qualifying distributions. Subtract line 5 from line 4	6	189,000.
	Note. The amount on line 6 will be used in Part V, column (b), in subsequent years when calculating whether the foundation of	jualifies fo	r the section
	4940(e) reduction of tax in those years.		

Part XIII Undistributed Income (see instructions)

	(a) Corpus	(b) Years prior to 2013	(c) 2013	(d) 2014
1 Distributable amount for 2014 from Part XI, line 7				208,182.
2 Undistributed income, if any, as of the end of 2014				200,102.
a Enter amount for 2013 only]		0.	
b Total for prior years:		0.		
3 Excess distributions carryover, if any, to 2014:		<u></u>		
a From 2009				
b From 2010	1			
c From 2011 21,667.	-			
d From 2012 8,965.				
e From 2013 0 •	- I			
f Total of lines 3a through e	30,632.			
4 Qualifying distributions for 2014 from	30,032.			
Part XII, line 4: ►\$189,000.				
a Applied to 2013, but not more than line 2a			0.	
b Applied to undistributed income of prior	ř	•		* **
years (Election required - see instructions)		0.		
c Treated as distributions out of corpus				
(Election required - see instructions)	0.			
d Applied to 2014 distributable amount		, ×		189,000.
e Remaining amount distributed out of corpus	0.			
5 Excess distributions carryover applied to 2014 (If an amount appears in column (d), the same amount must be shown in column (a))	19,182.			19,182.
6 Enter the net total of each column as indicated below:	1 9 5	,	i de la companya de l	
& Corpus Add lines 3f, 4c, and 4e Subtract line 5	11,450.			
b Prior years' undistributed income. Subtract				
line 4b from line 2b	> *	0.	ÿ,	* *
c Enter the amount of prior years'				
undistributed income for which a notice of deficiency has been issued, or on which the section 4942(a) tax has been previously assessed		0.		**************************************
d Subtract line 6c from line 6b. Taxable				
amount - see instructions		0.		
e Undistributed income for 2013. Subtract line		<u> </u>		
	,	?	۱ ،	
4a from line 2a. Taxable amount - see instr.			0.	
f Undistributed income for 2014. Subtract lines 4d and 5 from line 1. This amount must				
				^
be distributed in 2015				0.
7 Amounts treated as distributions out of				
corpus to satisfy requirements imposed by	1			
section 170(b)(1)(F) or 4942(g)(3) (Election				
may be required - see instructions)	0.			
8 Excess distributions carryover from 2009	_			
not applied on line 5 or line 7	0.			
9 Excess distributions carryover to 2015.			:	
Subtract lines 7 and 8 from line 6a	11,450.			
10 Analysis of line 9:				
a Excess from 2010]			
b Excess from 2011 2,485.				
c Excess from 2012 8,965.]			
d Excess from 2013]			
e Excess from 2014				
423581 11-24-14				Form 990-PF (2014)

	CH FINALY F		INC.		-2718009	Page 1
Part XIV Private Operating F			-A, question 9)	N/A		
1 a If the foundation has received a ruling of						
foundation, and the ruling is effective for			. ▶ └_			
b Check box to indicate whether the found		ig toundation described i		4942(j)(3) or L	4942(j)(5)	
2 a Enter the lesser of the adjusted net	Tax year	(b) 0012	Prior 3 years	(4) 0044		
income from Part I or the minimum	(a) 2014	(b) 2013	(c) 2012	(d) 2011	(e) Tota	<u> </u>
investment return from Part X for						
each year listed						
b 85% of line 2a						
c Qualifying distributions from Part XII,						
line 4 for each year listed						
d Amounts included in line 2c not						
used directly for active conduct of			·			
exempt activities						
e Qualifying distributions made directly						
for active conduct of exempt activities.			ŀ			
Subtract line 2d from line 2c						
3 Complete 3a, b, or c for the				 -		
alternative test relied upon:						
a "Assets" alternative test - enter:(1) Value of all assets						
• •						
(2) Value of assets qualifying under section 4942(j)(3)(B)(i)						
b "Endowment" alternative test - enter						
2/3 of minimum investment return						
shown in Part X, line 6 for each year						
listed						
c "Support" alternative test - enter:						
(1) Total support other than gross investment income (interest,						
dividends, rents, payments on						
securities loans (section						
512(a)(5)), or royalties)						
(2) Support from general public						
and 5 or more exempt organizations as provided in						
section 4942(j)(3)(B)(iii)						
(3) Largest amount of support from						
an exempt organization						
(4) Gross investment income						
Part XV Supplementary Info			if the foundation	on had \$5,000 c	or more in asset	s
at any time during t	he year-see instr	uctions.)				
1 Information Regarding Foundatio	n Managers:					
a List any managers of the foundation wh	o have contributed more	than 2% of the total cont	ributions received by	the foundation before t	the close of any tax	
year (but only if they have contributed in	nore than \$5,000). (See se	ection 507(d)(2).)			•	
NONE						
b List any managers of the foundation wh			or an equally large po	rtion of the ownership	of a partnership or	
other entity) of which the foundation has	s a 10% or greater interes	it.				
NONE	=-					
2 Information Regarding Contributi	on, Grant, Gift, Loan,	Scholarship, etc., Pr	ograms:	_		
Check here 🕨 🗶 if the foundation o	nly makes contributions t	o preselected charitable	organizations and doe	s not accept unsolicite	ed requests for funds. If	
the foundation makes gifts, grants, etc.	(see instructions) to indiv	iduals or organizations u	nder other conditions	, complete items 2a, b,	, c, and d.	
a The name, address, and telephone num	ber or e-mail address of t	he person to whom appli	cations should be add	Iressed:		
b The form in which applications should b	e submitted and informat	ion and materials they st	ould include:		-	
						
c Any submission deadlines:						
d Any restrictions or limitations on awards	s, such as by geographica	il areas, charitable fields	kinds of institutions	or other factors		
,	,	,				

3 Grants and Contributions Paid During the Y	ear or Approved for Future	Payment		
Recipient	If recipient is an individual.		Durpose of great or	
Name and address (home or business)	show any relationship to any foundation manager or substantial contributor	Foundation status of recipient	Purpose of grant or contribution	Amount
a Paid during the year				
DDISON RESERVE PAP CORPS 848 FAU BOULEVARD, SUITE 305	N/A	PUBLIC CHARITY	GENERAL OPERATIONS	
OCA RATON, FL 33431				8,000
LL AMERICAN DACHSHUND RESCUE 016 SPEDALE CT, # 236	N/A	PUBLIC CHARITY	GENERAL OPERATIONS	
PRING HILL, TN 33174				10,000
MERICAN FRIENDS TEL AVIV UNIVERSITY	N/A	PUBLIC CHARITY	GENERAL OPERATIONS	
9 BROADWAY, SUITE 1510 EW YORK, NY 10006				83,500
UTISM SPEAKS	N/A	PUBLIC CHARITY	GENERAL OPERATIONS	
EAST 33RD STREET EW YORK, NY 10016				5,000
	,			
ERNERT TEMPLE 47 ROUTE 208 SOUTH	N/A	PUBLIC CHARITY	GENERAL OPERATIONS	
RANKLIN LAKES NJ 07417		<u> </u>		10,000
Total SEE CO	NTINUATION SHEE	er(s)	▶ 3a	189,000
NONE				
NONE				
				==
Total			▶ 3b	m 990-PF (2014

(a) Business	(6.)	(c)		(e)
	(b) Amount	Exclu- sion	(d) Amount	Related or exemp
code	Amount	code	Amount	Tunction income
_				
_				
_				
_				
_				<u>-</u> _
_				
			12.	
		14	96,327.	
			*	
		18	89,011.	
			-	
		0.	185.350.	· <u> </u>
		 		185,3
٤)				103/3
	mliahmant of	Everent D		~~
is to the Accom	ibiiżumeur oi	Exempt P	urposes	
income is reported in o	olumn (e) of Part X\	/I-A contributed	importantly to the accomp	lishment of
	· · · · · ·			
				-
				
	s.) es to the Accommon income is reported in common income inco	s.) ss to the Accomplishment of income is reported in column (e) of Part X	14 14 18 18 0. s.) es to the Accomplishment of Exempt Po	14 12. 14 96,327. 18 89,011. 18 89,011. 18 13

 the foundation's exempt purposes (other than by providing tunds for such purposes).

423621 11-24-14

Form 990)-PF (20				NDATION, INC			18009		age 13
Part)	(VII			sfers To a	and Transactions	and Relations	ships With Nonc	haritabl	8	
	_		rectly engage in any		g with any other organizati		tion 501(c) of		Yes	No
	•	• •			7, relating to political orga	nizations?				
		rom the reporting found	ation to a noncharita	ible exempt or	ganization of:			19/1)		v
٠,,	Cash Other	accete						1a(1) 1a(2)		X
		actions:						1.5,5/		
(1)	Sales	of assets to a noncharita	ble exempt organiza	tion				1b(1)		X
(2)	Purch	ases of assets from a no	ncharitable exempt o	organization				1b(2)	ļ	Х
(3)		of facilities, equipment,						1b(3)		X
(4)		ursement arrangements						1b(4)		X
		or loan guarantees	ambarahin ar fundrai	ouna nobostatia				1b(5)		X
		mance of services or me facilities, equipment, ma						1b(6) 1c	<u> </u>	X
	_				dule. Column (b) should a	wavs show the fair i	market value of the good		sets.	
		•		-	ed less than fair market val	-	-			
		the value of the goods,								
(a) Line n	0((b) Amount involved	(c) Name o		exempt organization	(d) Description	n of transfers, transactions, a	and sharing a	rangeme	ints
	_			N/A						
-										
	_				·· -=	-				
						<u>.</u>				
	+	<u></u>								
	+				 -		······································			
			<u> </u>							
ın s	section	dation directly or indirec 501(c) of the Code (othe implete the following sch	r than section 501(c		or more tax-exempt organion 527?	izations described		Yes	X	□ No
<u> </u>	. 55, 50	(a) Name of org			(b) Type of organization		(c) Description of relation	onship		
		N/A								
			_							
	_							.		
	Under	penalties of perjury, I declare	that I have examined th	ıs return, ıncludir	l ig accompanying schedules and	l d statements, and to the	best of my knowledge			
Sign Here		Sac Wit	til	reparer (other tha	n taxpayer) is based on all infor	DIREC'		May the IRS return with the shown below	e prepar (see ins	rer
	Sign	ature of officer or trustee		Preparer's s	Date' '	Title Date	Check If PT	IN		
		Print/Type preparer's na ROBERT A.		Fichaigi 22	ignatur c	Date	self- employed	144		
Paid		CPA	DIORE,	ROBERT	A. STONE,	07/08/15		00082	700	
Prepa		Firm's name ► KAU	JFMAN, ROS			<u>,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,</u>	Firm's EIN ► 59-			-
		Firm's address ▶ 26	99 S. BAY	SHORE	DRIVE					
			AMI, FL 3				Phone no. (305	858	<u>-56</u>	00

3 Grants and Contributions Paid During the Ye				
Recipient	If recipient is an individual, show any relationship to any foundation manager	Foundation status of	Purpose of grant or contribution	Amount
Name and address (home or business)	or substantial contributor	recipient		
BREAST CANCER RESEARCH FOUNDATION 50 EAST 56TH STREET	N/A	PUBLIC CHARITY	GENERAL OPERATIONS	
NEW YORK NY 10022				25.00
1010. 11 10022				25,00
COVENANT HOUSE	N/A	PUBLIC CHARITY	GENERAL OPERATIONS	
5 PENN PLAZA				
NEW YORK, NY 10001				5,00
DIABETES RESEARCH FOUNDATION	N/A	PIIBLIC CHARTTY	GENERAL OPERATIONS	
200 SOUTH PARK ROAD			OLDINATIONS	
HOLLYWOOD, FL 33021				50
ECOLIFE CONSERVATION	N/A	PUBLIC CHARITY	GENERAL OPERATIONS	
P.O. BOX 462845 ESCONDIDO, CA 92046				15,00
		1		15,00
INSTITUTE FOR MYELOMA & BONE CANCER	N/A	PUBLIC CHARITY	GENERAL OPERATIONS	
RESEARCH				
9201 SUNSET BOULEVARD, SUITE 300 WEST HOLLYWOOD, CA 90069	:			20,00
JEWISH FEDERATION OF SOUTH PALM BEACH	N/A	PUBLIC CHARITY	GENERAL OPERATIONS	
COUNTY				
9901 DONNA KLEIN BLVD				
BOCA RATON, FL 33428				7,00
Total from continuation sheets	<u> </u>	.]		

FORM 990-PF INTERE	ST ON SAVI	IGS AND TEM	PORARY	CASH IN	VESTMENTS	STATEMENT
SOURCE		(A REVE PER B	NUE		(B) VESTMENT COME	(C) ADJUSTED NET INCOME
NORTHERN TRUST ACCO	UNT		12.		12.	
TOTAL TO PART I, LI	NE 3	-	12.		12.	
FORM 990-PF	DIVIDENDS	S AND INTER	EST FRO	M SECUR	ITIES	STATEMENT 2
SOURCE	GROSS AMOUNT	CAPITAL GAINS DIVIDEND	RE	(A) VENUE BOOKS	(B) NET INVES MENT INCO	
NORTHERN TRUST ACCOUNT 23-54311 NORTHERN TRUST	164,611	-		93,539.	•	
ACCOUNT 23-54311 TO PART I, LINE 4	167,399		$\frac{0.}{2.}$ —	2,788. 96,327.		
FORM 990-PF		ACCOUNTI				
	. <u>-</u>	ACCOUNTI	NG FEES			STATEMENT
DESCRIPTION		(A) EXPENSES PER BOOKS	(B NET IN MENT I	WEST-	(C) ADJUSTED NET INCOM	
ACCOUNTING FEES	_	6,529.		3,265.		0.
TO FORM 990-PF, PG	1, LN 16B	6,529.		3,265.		0.

FORM 990-PF (OTHER PROFES	SIONAL FEES		STATEMENT	4
DESCRIPTION	(A) EXPENSES PER BOOKS	(B) NET INVEST- MENT INCOME			
AGENCY FEES	4,371.	4,371.			0.
TO FORM 990-PF, PG 1, LN 16C	4,371.	4,371.			0.
FORM 990-PF	TAX	ES		STATEMENT	5
DESCRIPTION		(B) NET INVEST- MENT INCOME			
FOREIGN TAXES PAID	3,471.	3,471.			0.
	2 471		-		
TO FORM 990-PF, PG 1, LN 18	3,471.	3,471.			0.
FORM 990-PF, PG 1, LN 18 FORM 990-PF OTHER DECREASE			BALANCES	STATEMENT	
=			BALANCES	STATEMENT	
FORM 990-PF OTHER DECREAS	ES IN NET AS	SETS OR FUND	BALANCES	AMOUNT	
FORM 990-PF OTHER DECREASE DESCRIPTION	ES IN NET AS	SETS OR FUND	BALANCES	AMOUNT	6
FORM 990-PF OTHER DECREASE DESCRIPTION NONDIVIDEND DISTRIBUTION BASE	ES IN NET AS	SETS OR FUND	BALANCES	AMOUNT	6
FORM 990-PF OTHER DECREASE DESCRIPTION NONDIVIDEND DISTRIBUTION BASE TOTAL TO FORM 990-PF, PART I	ES IN NET AS	SETS OR FUND	BALANCES OK VALUE	AMOUNT 28	6 35.
FORM 990-PF OTHER DECREASE DESCRIPTION NONDIVIDEND DISTRIBUTION BASE TOTAL TO FORM 990-PF, PART I	ES IN NET AS	SETS OR FUND TS E STOCK BO K FUNDS		AMOUNT 28 28 STATEMENT FAIR MARKET	35.





Account Statement

December 1, 2014 - December 31, 2014

Account Number 23-5431 WESTREICH F FOUNDATION NFP

Portfolio Details

	Market Price	Shares	Market Value	Cost	Unrealized Gain/(Loss)	Accrual	Estimated Annual Income	Yield	% of Assets
Equity Securities - Large Cap									
AMERICAN EXPRESS CO., COMMON STOCK.	\$93.040	229.00	\$21,306.16	\$10,406.94	\$10,899.22		\$238.16	7.1%	0.9%
AMERICAN TOWER CORP (AMI)	98.850	185 00	18,287.25	13,671.92	4,615.33	70.30	281 20	1.5%	0 7%
AMGEN INC COMMON STOCK (AMGN)	159.290	152 00	24.212.08	11,132.70	13,079.38		480.32	2.0%	1.0%
APACHE CORP., COMMON STOCK \$1.25 FAR [APA]	62.670	233.00	14,602.11	18,758.60	(4,156,49)		233.00	1.6%	0.6%
APPLE INC COM STK (AAPL)	110 380	466.00	51,437.08	13,646.20	37,790.88		876.08	1.7%	2.1%
BAXIER INIL INC COMMON STOCK (BAX)	73.290	307.00	22,500.03	21,032.71	1,467.32	159.64	95.869	2.8%	0.9%
CHEVRON CORP COM (CVX)	112.180	141.00	15,817.38	10,301.52	5,515.86		603.48	3.8%	0.6%
CISCO SYSIEMS INC COMMON SIOCK (CSCO)	27.815	390.00	10,847.85	8,352.59	2,495.26		296.40	2.7%	0.4%
CHIGROUP INC COM NEW COM NEW (C)	54.110	610.00	33,007.10	30,523.32	2,483.78		24.40	0.1%	1.3%
COCA COI A CO COM (KO)	42.220	261 00	11,019 42	9,206.60	1,812.82		318.42	2.9%	0.4%
COSICO WHOLESALE CORP NEW COM (COST)	141 750	113.00	16,017.75	6,082,52	9,935.23		160.46	1.0%	0.7%
CVS HEALTH CORP COM (CVS)	96.310	281 00	27,063.11	13,462.40	13,600.71		393.40	1.5%	1 1%
DANAHER CORP. COMMON STOCK \$.01 PAR (DHR)	85.710	404.00	34,626.84	16,100.12	18,526 72	40.40	161.60	0.5%	1.4%
FALON C ORP PLC COM USDU, SU [EIN]	096 29	370.00	25,145.20	21,437 65	3,707.55		725.20	2.9%	1.0%
EMC CORP COM [EMC]	29.740	576.00	17,130.24	11,672.14	5,458.10	66.24	264.96	1.5%	0.7%

Continued on next page.



Account Number 23-5431, WESTREICH F. FOUNDATION NFP

Portfolio Details (continued)

Account Statement

	Market Price	Shares	Market Value	Cost	Unrealized Gain/(Loss)	Accrual	Estimated Annual Income	Yield	% of Assets
(XELON CORP COM (FXC)	37 080	281 00	10,419.48	10,312 82	106.66		348.44	3.3%	0 4%
EXPRESS SCRIPTS HLDG CO COM (ESRX)	84.670	347.00	29,380.49	19,490.89	09 488'6				1.2%
EXXON MOBIL CORF COM (XOM)	92.450	46.00	4,252.70	4,379.25	(126.55)		126.96	3.0%	0.2%
EXXON MOBIL CORP COM (XOM)	92.450	203.00	18,767.35	13,684.08	5,083.27	i	560.28	3.0%	0.8%
FRANKLIN RES INC. COMMON STOCK. [BEN]	55 370	256.00	14,174.72	9,684.37	4,490.35	166.40	153.60	1.1%	0.6%
GENERAL ELECTRIC CO IGE)	25.270	833.00	21,049.91	13,964.31	7,085.60	191.59	766.36	3.6%	860
GII EAD SCIFNCES INC (GILD)	94.260	144.00	13,573.44	8,232.58	5,340.86				0.6%
COOGIF INC CI A (GOOGI)	530.660	23.00	12,205.18	5,986.39	6,218.79			i	0.5%
GOOGIE INC COM USDO.001 CLC' (GOOG)	526 400	42.00	22,108.80	16,124 42	5,984.38			1	0 9%
HOME DEPOTING. COMMON STOCK, \$.05 PAR (HD)	104.970	268.00	28,131.96	12,941.40	15,190.56		503.84	1.8%	1.1%
INIEI CORP COM (INIC)	36.290	306.00	11,104.74	8,526.18	2,578.56		275.40	2.5%	0.5%
INTERCONTINENTAL EXCHANGE INC COM (ICE)	219.290	77.00	16,885.33	10,218.32	6,667.01		200.20	1.2%	0.7%
JFMORGAN CHASE & CO COM (JFM)	62 580	658 00	41,177.64	28,405.21	12,772.43		1,052.80	2.6%	1.7%
MC DONALDS CORP. COMMON STOCK NO PAR (MCD)	93.700	192.00	17,990.40	16,792.85	1,197.55		652.80	3.6%	0 7%
MFRCK & CO INC NEW COM (MRK)	56.790	423 00	24,022.17	18,647.97	5,374.20	190.35	761.40	3.2%	1.0%
METLIFE INC COM STK USDO.01 (ME1)	54.090	397.00	21,473.73	15,029 97	6,443.76		555.80	2.6%	0 9%
MFB NORTHERN MUI TI MANAGER GLOBAL LISIEDINFRASTRUCTURE FUND (NMFIX)	12 290	6,361.76	78,186.03	79,155.91	(969.88)		1,615.89	2 1%	3.2%

Continued on next page.

Page 9 of 30



Account Statement

December 1, 2014 - December 31, 2014

Account Number 23-5431 WESTREICH F. FOUNDATION NFP

Portfolio Details (continued)

	Market Price	Shares	Market Value	Cost	Unrealized Gain/(Loss)	Accrual	Estimated Annual income	Yield	% of Assets
MONDELEZ INTL INC COM (MDLZ)	36.325	546.00	19,833.45	18,067.62	1,765.83	81.90	327.60	1,7%	0.8%
NATIONAL OILWELL VARCO COM STK (NOV)	65.530	247.00	16,185.91	11,777,115	4,408.76		454.48	2.8%	0.7%
NIKE INC CL B CL B (NKE)	96.150	173.00	16,633.95	7,199.60	9,434.35	48.44	193,76	1.2%	0.7%
NORFOLK SOUTHN CORP COM (NSC)	109.610	143.00	15,674.23	10,002.90	5,671.33		326.04	2.1%	0.6%
ORACLE CORPORATION COM (ORCL)	44.970	429.00	19,292.13	12,026.05	7,266.08		205.92	1.1%	0.8%
PFIZER INC COM (PFE)	31.150	955.00	29,748.25	23,465,34	6,282.91		916.80	3.1%	1.2%
PRECISION CASIPARTS CORP COM (PCP)	240.880	86.00	20,715.68	16,092.62	4,623.06		10.32	0.1%	0.8%
PROCTER & GAMBLE COM NPV (PC)	91.090	192.00	17,489.28	12,960.82	4,528.46		494.28	2.8%	0.7%
QUALCOMM INC COM (QCOM)	74.330	304.00	22,596.32	16,041.32	6,555.00		510.72	2.3%	0.9%
SALESFORCE COM INC COM STK (CRM)	59.310	246.00	14,590.26	14,114.32	475.94				0.6%
SCHLUMBERGER LTD COM COM (SLB)	85.410	268.00	22,889.88	23,526.80	(636.92)	84.40	428.80	1.9%	0.9%
STARBUCKS CORP COM (SBUX)	82.050	322.00	26,420.10	17,076.23	9,343.87		412.16	1.6%	1.1%
TWENTY-FIRST CENTY FOX INC CL A CL A IFOXA)	38.405	544.00	20,892.32	17,406.21	3,486.11		92.48	0.4%	0.8%
V. F. CORP., COMMON STOCK, NO PAR (VFC)	74.900	202.00	15,129.80	5,964.80	9,165.00		258.56	1.7%	0.6%
VERIZON COMMUNICATIONS COM [VZ]	46.780	193.00	9,028.54	7,254.84	1,773.70		424.60	4.7%	0.4%
WALT DISNEY CO (DIS)	94.190	238.00	22.417.22	8,509.21	13,908.01	273.70	273.70	1.2%	0.9%
WELLS FARGO & CO NEW COM STK (WFC)	54.820	641.00	35,139.62	17,254.57	17,885.05		897.40	2.6%	1.4%
ZIMMER HLDGS INC COM (ZMH)	113.420	126.00	14,290.92	12,841.29	1,449.63	27.72	90.72	99.0	0.6%

Continued on next page.



PSM351M

Account Number 23-54311 WESTREICH F. FOUNDATION NFP

Account Statement

December 1, 2014 - December 31, 2014

Portfolio Details (continued)

	Market Price	Shares	Market Value	Cost	Unrealized Gain/(Loss)	Accrual	Estimated Annual Income	Yield	% of Assets
Total large Cap			\$1,086,891.53	\$758,946.54	\$327,944.99	\$1,401.08	\$19,587 75	1.8%	44.2%
Equity Securities - Mid Cap									
ALIERA CORP COM (ALTR)	\$36.940	489.00	\$18,063.66	\$16,403.33	\$1,660.33		\$352.08	1.9%	0.7%
AMERICAN WIR WKS CO INC NEW COM (AWK)	53.300	169.00	9,007.70	5,763 08	3,244.62		209.56	2 3%	0.4%
C R BARD (BCR)	166.620	131.00	21,827.22	14,398,48	7,428.74		115.28	0.5%	0.9%
DICKS SPORTING GOODS INC DC-COM (DKS)	49.650	432.00	21,448.80	19,407.21	2,041.59		216.00	1.0%	0.9%
MI'B NORTHERN MUI IFMANAGER MID CAF I UND (NMMCX)	12.480	13,997.70	174,691.29	148,022.78	26,668.51		1,357 78	0.8%	7.1%
NUCOR CORP. COMMON STOCK, \$.40 PAR (NUE)	49.050	326.00	15,990.30	15,788 75	201 55	121.43	485.74	3.0%	0.7%
TERADATA CORP DEL COM SIK (TDC)	43.680	262.00	11,444.16	11,327.55	116.61				0 5%
Total Mid Cap			\$272,473.13	\$231,111.18	\$41,361.95	\$121.43	\$2,736.44	1.0%	11.1%
Equity Securities - Small Cap									
MFB NORTHERN FUNDS SMALL CAP CORE TUND (NSCRX)	\$21.250	2,663 77	\$56,605 11	\$41,317.37	\$15,287 74		\$301.01	0.5%	2.3%
MFB NORTHERN MULTFMANAGER SMALL CAP LUND (NMMSX)	9.740	4,962.38	48,333.58	47,297.01	1,036.57		406.92	0.8%	2.0%
Total Small Cap			\$104,938.69	588,614.38	\$16,324.31		\$707.92	0.7%	4.3%

Continued on next page.

Page 11 of 30





Account Statement

December 1, 2014 - December 31, 2014

Account Number 23-5431 WESTREICH F. FOUNDATION NFP

Portfolio Details (continued)

	Market Price	Shares	Market Value	Cost	Unrealized Gain/(Loss)	Accrual	Estimated Annual Income	Yield	% o Asseti
Equity Securifies - International Developed									
MfB NORTHERN MULTI-MANAGER INIL EQUITY (UND INMIEX)	\$10.080	74,510.06	\$751,061.40	\$679,529.17	\$71,532.23		\$16,839.27	2.2%	30.6%
Total International Region - USD			\$751,061.40	\$679,529.17	\$71,532.23		\$16,839.27	2.2%	30.6%
Total International Developed			\$751,061.40	\$679,529.17	\$71,532.23		\$16,839.27	2.2%	30.6%
Equity Securifies - International Emerging									
MFB NORTHERN FDS MUTT-MANACER EMERGING MKIS EQUITY FD (NMMEX)	\$18.050	13,455.08	\$242,864.19	\$234,310.91	\$8,553.28		\$2,623.74	1.1%	6.99
Total Emerging Markets Region - USD			\$242,864.19	\$234,310.91	\$8,553.28		\$2,623.74	1.1%	9.99
Total International Emerging			\$242,864.19	\$234,310.91	\$8,553.28		\$2,623.74	11%	9.99
Total Equity Securities			\$2,458,228.94	\$1,992,512.18	\$465,716.76	\$1,522.51	\$42,495.12	1.7%	100.07
	Market	Par Value/ Rating	Market Value	Cost	Unrealized Gain/(Loss)	Accrual	Estimated Annual Income	Yield/ YTM	% o Asset
Fixed Income Securities - Corporate/ Government	ent								
2015 PRAXAIR INC 3 25% DUE 09-15-2015 REG	\$101 896	50,000,00 A2	\$50,947.90	\$50,561.00	\$386.90	\$478.47	\$1,625.00	3.2% 0.5%	5.03

Continued on next page.

42.29

3.0%

12,904.71

773.54

430,766.66

431,540.20

41,49425

10.400

MFB NORTHERN FDS FIXED INCOME FD (NOFIX)

Funds



FORM 990-PF	CORPORATE BONDS		STATEMENT 8
DESCRIPTION		BOOK VALUE	FAIR MARKET VALUE
JP MORGAN CHASE & CO. 4.65% PRAXAIR INC. 3.25% MFB NORTHERN FDS FIXED INCOME F MFD NORTHERN FDS ULTRA SHORT FI MFB NORTHERN FUNDS MULTI MANAGE OPPORTUNITY MFC FLEXSHARES TR IBOXX 3 YR TA	IXED INCOME FD ER HIGH YIELD	0. 50,561. 430,767. 0. 490,148. 82,435.	0. 50,948. 431,540. 0. 461,259. 78,748.
TOTAL TO FORM 990-PF, PART II,	LINE 10C	1,053,911.	1,022,495.
FORM 990-PF	OTHER INVESTMENTS		STATEMENT 9
DESCRIPTION	VALUATION METHOD	BOOK VALUE	FAIR MARKET VALUE
MFB NORTHERN FDS MULTI MANAGER GLOBAL REAL ESTATE FD MFC FLEXSHARES TR MORNINGSTAR GLOBAL UPSTREAL NAT RES INDEX	COST	245,595. 222,290.	229,436. 189,813.
TOTAL TO FORM 990-PF, PART II,	LINE 13	467,885.	419,249.